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FIrst Namce: Last Mame: P

by Provide the logic schematic of this machine using only D Oip-flops, AND gales, OR
gates, and NOT pates.




Farst Namie: i.ast Name: PID:

5. Consider the following state dipgran:
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(1) Fill out the blanks in the state table
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(b) Lubel the rows and columps with states, and then Bl the implication table.
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ie) List all the original states. grouped into maximal elasses of compatibility. Use

only @5 many groups as necessary
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PustName:

Eust Name:

(dy Show the mindmized state transition and output table, Fill inonly as many rows of

the tuble as necessary.
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First N;uiﬁ Last Name: [41P]

6. Consider the fimte staie machine shown below,
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Bplement a st assignment using the nunimum bit-change heuriste, Show your
result iy both Kemap and the table.

. Assignment
State Name B ’







